Opening Leads vs. No Trump Contracts
When leading against a no trump contract, there is more to know than “4th best from your longest and strongest.” Sometimes the opponents have bid your best suit, sometimes you have two suits a relatively equal length and strength, and sometimes your partner’s or the opponents’ bidding will point you in the right direction. 
1.      Did partner overcall?

Tend to lead any suit partner has overcalled unless you have a strong suit of your own and an outside entry. 
2.      Do you have a strong sequence?
Strong sequence leads from 4 card suits (KQJx, KQTx, QJTx) are preferable to weaker broken holdings in 5 card suits (Jxxxx, Qxxxx).  
3.      Do you have a choice of two suits?

Faced with a choice of leading from an unbid major or an unbid minor, with relatively similar holdings in both suits, tend to lead the major. (Opponents seldom conceal major suit length during the bidding, but often conceal minor suit length.)
4.      Did dummy use Stayman?
If dummy uses the Stayman Convention in response to either one or two no trump, he is assumed to have at least one four card major. It is frequently possible to determine which one. Example: 1NT – 2C – 2S – 3NT: expect dummy to have 4 hearts. Avoid leading hearts except from shortness or a strong sequence. 
5.      Are you trying to hit partner’s suit?

Sometimes your hand will be so abysmally weak that you will try to hit partner’s long suit even though he hasn’t bid. Keep in mind that if he had a chance to overcall at the 1-level and did not, your chances of “hitting” him in one of those suits is poor. 
6.      Is dummy coming down with a long strong suit?

If the dummy is known to have a long strong suit, it is imperative to make an attacking lead. AKx, KQx, or QJx are to be preferred over weaker longer suits. 
7.      How will partner know what you are leading from?
It is imperative that your partner know whether or not you have honor strength in the suit that you are leading, for a quick switch may be vital. The following is recommended:
A. The lead of a low card in an unbid suit promises an honor. With weaker holdings such as 8632, start with the 8 (or the 6). Sometimes the highest card may be too valuable to lead. For example, from 9752, you might try the 7. Hopefully, you won’t have to lead from suits like that very often, but if you lead low, partner may foolishly return the suit, looking for your non-existent strength.         

North







♠ 8 6 3






♥ 6 5






♦ A J T 6



West


♣ A Q T 7

East

                     

♠ A Q J 4




♠ T 9 7 2



♥ T 8 4 3




♥ Q J 9



♦ 7 3





♦ K 5 2



♣ 8 6 5


South


♣ 9 4 2






♠ K 5











♥ A K 7 2









♦ Q 9 8 4










♣ K J 3
Experience has shown that leading from four card suits such as AQTx, AQJx, AJTx, or AKTx frequently costs a trick. If declarer has the king in the 1st three cases and the queen in the last, a trick has been lost. Furthermore, when leading from a 4 card suit, once you concede a trick, you establish only 3. This, along with partner’s hoped for entry, is still only 4 tricks, insufficient to defeat 3NT. Alternatively, if any of the above combinations are attached to a FIVE card suit, they are excellent leads. FOUR tricks can be established after one is surrendered.
With all this in mind, West does not lead a spade. On the other hand, he passionately wishes his partner to lead one, if and when he gets the lead. In order to suggest a switch, West leads the eight of hearts, purposely inducing East to think that the lead is from top of nothing. As the play develops, South wins the 1st heart and runs the nine of diamonds to East’s king. To defeat the contract, East must shift to a spade rather than continue hearts. It is not at all difficult for East to shift after the lead of the eight of hearts; but had West led a low heart, the shift would have been next to impossible. 
B. The lead of a Jack denies a higher honor.  (JT9x, JT8xx, Jx)

C. The lead of a Ten shows either AJT, KJT, top of a sequence or shortness.  How does partner tell? If the Jack is visible, the lead must be top of a sequence. If the nine is visible, it must be from strength. If neither is visible, assume the lead is from an interior sequence (strength).

D. The lead of a Nine shows either AT9, KT9, QT9, or is a top card. If the Ten is visible, the nine must be a top card. If the ten is not visible, assume it is from an interior sequence – after all, the lead of a suit headed by the nine is somewhat rare at no trump.

E. The lead of a Queen shows either top of a sequence (QJT, QJ9), or a combination headed by the KQT9. Partner is expected to drop the Jack (if he holds it) under the lead of a queen at no trump.

F. The lead of a King is either from a sequence (KQJ, KQT), or is a short suit lead (AKx, KQx). Note that the Queen is not led from KQT unless the leader has 5 or 6 card suit. 
G. The lead of an Ace shows a powerful holding and is rare. The most common holdings are suits headed by: AKQ, AKJT, AKJ, and occasionally AQJ with an outside entry. 

8.      Barring a strong sequence or no help from partner, what do I lead?
With all other holdings, lead 4th highest if you do not have a sequence. A sequence for no trump purposes is a suit with three cards in a row, at the HEAD of the suit (QJT54), or with the third card in the sequence missing by one spot (QJ954).  If the 3rd card dips by more than 1 spot (QJ854), lead 4th best.  If the sequence is in the middle of the suit and is headed by the nine or lower (Q9874), disregard it and make your normal 4th best lead. 

9.     Are there any exceptions to these rules?
You are not a robot. Simply because an auction or action by your partner suggests a particular lead, you are allowed to use your good judgment. This is why computers do not play bridge near as well as experts. As your experience increases, you will be better placed to know when it might be right to go against the “norm”. Until then, it’s strongly recommended that you follow the guidelines here. They will point you in the winning direction on an overwhelming percentage of hands.

Every so often you will hold a five card suit headed by a perfect three card sequence such as KQJxx or QJTxx. Naturally, your normal lead is the top card. However, if the opponents have bid the suit, you will be better off in the long run to lead 4th best – to avoid blocking the suit. Partner may have a doubleton honor, or an opponent or partner may have a singleton honor. This idea may seem wild, but it is theoretically sound.
When leading from a weak four card suit, (9 or lower), there is not universal agreement on which card to play. Some agree to lead the highest card, while others prefer either low or 2nd highest. I am firmly in the last camp. From four card suits, I like to lead the top card only if it is top of at least a two card sequence (9853, 8742, 7643) and so on. With weak broken holdings of 4 or more cards, I prefer to lead the 2nd highest (9652, 8532, 7432)  
Low cards from nothing run a huge risk of misleading partner about which suit to attack. Leading your highest card from a broken holding can sometimes cost a trick, especially when partner expects you to have the spot underneath and underleads a spot of his own. Lead your highest spot only from short suits or touching sequences and you will not have this problem. After leading you 2nd highest card, continue playing lower cards in that suit.
Opening Leads vs No Trump Quiz
1.  Sitting West, you hear the following auction: 1NT – Pass (you) – 2NT – Pass – 3NT – All Pass. What 

 would you lead from each of the following hands:

a.
♠ QT84


b.
♠ AJT85

c.
♠ QJT8

♥ Q754



♥ K5



♥ Q9743


♦ Q4




♦ 543



♦ Q5


♣ J87




♣ T97



♣ T3

d.
♠ J654



e.
♠ A765

f.
♠ KJ6


♥ A2




♥ JT32


♥ T98


♦ QT98



♦ 876



♦ AQT2


♣ J43




♣ Q6



♣ Q76
2. Again you are West, but this time the auction goes 1C – Pass (You)  – 1H – Pass – 1NT – Pass – 2NT - 

Pass – 3NT.   What would you lead from each of the following hands:

a.
♠ A5



b.
♠ A43


c.
♠ A543

♥ JT982



♥ J8



♥ 543

♦ J86




♦ J76



♦ QT72

♣ Q76




♣ QJT32


♣ K3
d.
♠ J76



e.
♠ T97


f.
♠ J76

♥ Q432



♥ KJ76


♥ 543

♦ T93




♦ K65



♦ AKJT

♣ 543




♣ AJ3



♣ 765
3. Using the lead conventions discussed in the lesson, which card do you lead from each of the following 

combinations?
a.
KJT85



h.
AKQT4


o.
AKT93
b.
AT975



i.
T42



p.
AQT93

c.
Q9874



j.
842



q.
AK842

d.
KQ753


k.
AKJ98


r.
KQT94

e.
JT7542


l.
8643



s.
J9872

f.
KT975



m.
972



t.
A75

g.
QJ965



n.
QT965



u.
8742
4. Everyone vulnerable, North opens 3C and South bids 3NT. What do you lead from 
♠ KQ6

♥ JT932
♦ J2
   ♣ 743?

Answer Key
1.
a.   Four of Spades

Your spades are stronger than your hearts


b.   Ten of Spades

Shows zero or two higher


c.   Queen of Spades

A solid 4 card sequence is preferable to a ratty 5 card suit


d.   Nine of Diamonds

Your diamonds are significantly better than your spades. From this interior






sequence combination, the Nine is the proper card. 


e.   Deuce of Hearts

Four to the J-T is more attractive than four to the ace. Suits that have two 






honor cards are usually better than suits that have only one. 

f.   Ten of Hearts

One of the few times you make a passive lead against a no-trump contract. 






You have most of the strength, so sit back, relax, and let declarer take all of




losing finesses into you. 

  2.
a.   Jack of Hearts

Even though the suit has been bid, your sequence is strong enough to lead.


b.   Three of Clubs

The “normal” lead is the Queen, but when the suit has been bid, it is better to 





lead low to avoid blocking, in case partner has 9x, Kx, or Ax. 


c.   Deuce of Diamonds
A suit with two honor cards should be preferred to a suit with only one,






particularly when that one honor is either the Jack or the Ace.


d.   Ten of Diamonds

Partner has opening bid strength, but was silent. Surely he can’t have spades, 






but he might have diamonds.


e.   Ten of Spades

Play passive when you have most of the strength and no 5 card suit to lead.


f.   Ace of Diamonds

From very strong holdings, the Ace is the proper lead. 

  3.
a.   The Ten


Zero or two higher one of which must be the Jack


b.   The Nine


Zero or two higher one of which must be the Ten


c.   The Seven


Fourth best


d.   The Five


Fourth best


e.   The Five


Fourth best


f.   The Nine


Zero or two higher one of which must be the Ten


g.   The Queen


Top of a sequence


h.   The Ace


Shows a very powerful holding

i.   The Deuce


Low from 3 to an honor (The ten is considered an honor)


j.   The Eight


Top of nothing vs no-trump to show partner you have no interest in the suit.


k.   The Ace


Shows a very powerful holding


l.   The Six


Second best from four small to indicate no honor in the suit.


m. The Nine


Top of nothing vs no-trump to show partner you have no interest in the suit.

n.  The Nine


Zero or two higher one of which must be the Ten

o.   The Nine


With no outside entry, the nine is the proper lead. With a certain outside entry






you would lead the Ace. (Leading the Nine from this combination is an 






exceptional case).


p.   The Nine


With a certain outside entry, you might lead the Ace. If you have reason to 

expect that the king is in dummy, lead the Queen. (Leading the Nine from this combination is another exceptional case).


q.   The Four


Fourth best

r.   The Queen


Asks partner to underplay the Jack if he has it. This eliminates confusion






when the king holds and neither the Jack nor the Ace is visible.


s.   The Seven


Fourth best


t.   The Five


Low from 3 to an honor


u.   The Eight


2nd best from 4 small only when the top two cards are not sequential.

4.
The King of Spades


North

       When dummy is going to come down with a long





♠ 5 4

        strong suit, leads from short, strong holdings are





♥ Q 8

        more attractive than leads from long, weak ones.





♦ 8 7


 


West


♣ A Q J T 9 8 2
East
                     
♠ K Q 6




♠ A 9 8 3 2


♥ J T 9 3 2




♥ K 6 5


♦ J 2





♦ Q T 9 5


♣ 7 4 3


South


♣ 5





♠ J T 7










♥ A 7 4








♦ A K 6 4 3









♣ K 6






North	East	South	West


  3C	 Pass	 3NT	All Pass





South	West	North	East


 1NT	 Pass	 3NT	All Pass








